AAx =45 Fo2 L FH (L, 1), (-1, —-15)E %
SFZ~ 0] A1 09
a1 fa RS

D y=x>4+6x-6 @ y=x>+8x-8

@ y=-x>+6x-4 @ y=-x>+6x-8

® y=-x>+8x-6



o_a

Ty =-2x2 +4x+1 9] TGk

12et

o

2.

® 2 3 3

@D 1



4y =2(x—1)% + 3 9 H%7hE Fotofet,






¥ = —24% - 4x— 6 9] HAGEE Ffel



ol
L_L

K
o_a

e

@ y=-x>+2x+1

@ y

D y=-3x2

(x+1)2+3

® y=-2(x-1)?



7.

o)A y = —x2+10x-13 o] HAZHS

o] &7k nolEt S uf, mn O] FE

w
=%



o|2RR y = ax? + bx+ ¢ o 1 E7E A (0, 3) & AL, HAH 9
HE7F(1, -2) & o, o] olARk4o] 427

® y=-5x>-10x+3 @ y=5x2+10x+3
® y=-5x2+9x-2 @ y=5x2-10x+3

® y=5x24+10x+2



o

-3x2+3

3x2 41 @ y=3x*+2 @y

@y

® y=-x2+4+2

=-x2+3

@ vy






11.

O y=—(x+1)2+2 @ y=2(x+1)2+2

®y=-2(x-1)2+2 @ y=2(x-1)2+2

® y==2x+1)2%+2



o, a+b 2

o
T

I} off 1}

—2x2 +ax+ b 9 17

y:

2~
s

12. &

IOl

@ 6 3 8 @ 10 ® 12

D 4



B [
(@)
&3‘

- -|-5

® y=-x>+2x @ y=-2x2+4x ® y=-2x?-4x

@ y=4x% 4+ 4x ® y=5x2+10x



oA
—_—

X
o
J
T
~
el
£
—
L
~
|
S
KA
W+
B
—_
[Ife]
o
o]
N
mi
[ IO
I Ot
= <
T o
R AR
<

(x—2)2+8

@ y

(x-2)%2-10

®y=

2(x+1)2+38

@ vy

® y=2(x-2)2-10

® y=2x2-2



oA Tl A (2,10) & Au=

@ y=-2(x+3)(x-1)

@ y=-2(x-3)(x-1)



16.

= 3x2 9] g} rofo] 21 T A (_1’ 0)’ (2, 0) o A=
%{4@%
O y=3x2-2 @ y=3:2 356
@y:3x2+6x—8 @)’_3x2—6x—8

® y=3x2+3x-6



17, y=-x? o] 2= E HPolgt Aol =3 (2, 0), (4, 0) & A&
ZE/Ao] 429

D y=-x*-2 @ y=-x>-3x-6
® y=-x>+6x-8 @ y=x>4+6x-38

® y=-x>-6x+38



18. olx}sts ) —
12ty = ax® + bx+ ¢ & 2 mrt ofef 28T Z& ol a+b+c

lo
)
Mo
e

d
=
ro,

N
N

D

yl\




D y=x>+2x-6
® y=x*-2x-6

® y=x2+4x-6

@ y=2x*4+4x-6

@ y=2x>2-4x-6



20. o oAt F W

D y=x2+x-1
1
©) y:gx2+4

® y:%(x-i-l)2



-x? +ax+ b 9 =7}
2 0, o] Tefme) Zsigre

®7 ®8 ©®Y




22,

ojxtgry =

42 - 24x+ 108 x=a¥

o] gk Fatolat.

B
=¥

1w, )52k b



@ 4,

® 9t 1

@ 9t} 4



oF Kool

1o

y=2x? 9] 18

<

;OD

1

o1

24.

@ y=2(x-1)2+4

@O y=2(x-1)2

@ y=-2(x+1)2+4

®y=2(x+1)2+4

® y=-2(x-1)2+4



O y=-2x>-4x+4
@ y:—2x2+4)€_3

@ y:—2x2_x+5

@ y=-2x>+4x+3



I} &, a+3b+c

O
=

7} o

i

y = ax®+bx+c ] 1

Sk
=1

7

]

o

26.

ol
N

‘ol

® 3 A 5 @ 7 B 9

D1



27

/Lﬂ ]
& (0
,—8),
(1,
-5), (3,
-5)E
= A
= XL
BX

@ , =3
@ ( |
( ’ )

@

(1, 4)

® (2, -4
)

1o
1
S,
ol
1o



y=—x*+dx+k-3 2 HUgko] 5 A w, k of Fh= 75t



= . o= 1
29. OAB4y = —x+4r-3 &) HAIE m, ARy = 23+ 2043
of %:38& n o123 T ul, mn o L FofeleL,

w
=






31. ol y = 24+ Sr-k 9 Gl 2 A ), k ] FH& Tatole

YR
=



ol g4

b
Be
g

+bx+c7}X—1°’ of 253k 32
oot

V. g%



o, M 9

Il

M olgtal

e

y = —x? — 2ax + 6a 2] %



34. oA}y = x2+2ax+2a ©] FEFES molEtl
TFstolet. (2, a = A4eolth)

e =
=%



9 -
2x2 + dax — 4a 9] H3g-& molztn &

(& ae Aol



Ty = —2x% - dax + 8a 9]

SH
=

017

36.






